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Wiesbaden, 7. Dezember 2005


Si le Père Noël a existé?

Does Santa Claus exist?
From an unknown author, probably from French Canada

Essayons de prendre du recul et analysons cet événement que nous connaissons sous l'appellation de Noël et qui devrait a priori être une fête...

Let us try to calculate and analyze this event which we know as Christmas and which used to be first and foremost a day of festivity.
Noël en chiffres :  Il y a approximativement deux milliards d'enfants (moins de 18 ans) sur Terre. 

Christmas in numbers and figures: on a global scale there are now affirmatively two billion children under the age of 18.

Cependant, comme le Père Noël ne visite pas les enfants Musulmans, Hindous, Juifs ou Bouddhistes (sauf peut-être au Japon), ceci réduit la charge de travail pour la nuit de Noël à 15% du total, soit 378 millions.

However, as Santa Claus to this day visits only children of one denomination, perhaps with the exception of Buddhist children in Japan, this already reduces Santa’s work load on Christmas eve to a total of 15%, and we now have a figure of 378 million children.

En comptant une moyenne de 3.5 enfants par foyer, cela revient à 108 millions de maisons, en présumant que chacune comprend au moins un enfant sage.

Do we now consider that on the average 3.5 children are at home, this translates into about 108 million houses in which we assume at least one child that behaved well. 

Le Pere Noël dispose d'environ 31 heures de labeur dans la nuit de Noel, grâce aux différents fuseaux horaires et la rotation de la Terre, dans l'hypothèse qu'il voyage d'Est en Ouest, ce qui parait d'ailleurs logique. Ceci revient à 967,7 visites par sec. 

Santa Claus puts in approximately 31 hours of labor during Holy Night, this being possible because of the world’s various time zones and with the hypothesis that he will travel from east to west, which, after all, seems logical. We the arrive at a figure of 967.7 visits per second.
Cela signifie que pour chaque foyer Chrétien contenant au moins un enfant sage, le Pere Noël dispose d'environ un millième de seconde pour parquer le traîneau, sauter en dehors, dégringoler dans la cheminée, remplir les chaussettes, distribuer le reste des présents au pied du sapin, déguster les quelques friandises laissées a son intention, regrimper dans la cheminée, enfourcher le traîneau et passer a la maison suivante.

This again signifies that for each believer fireplace behind which we assume one well-behaving child Santa has about one thousand of a second during which he must park the sleigh, leap out, tumble down the chimney, fill the stockings, distribute the rest of the presents under the Christmas tree, taste some of the sweets left especially for him, climb up the chimney, mount his sleigh and set off for the next house.
En supposant que chacun de ces 108 millions d'arrêts sont distribues uniformément a la surface de la Terre (hypothèse que nous savons fausse, bien sur, mais que nous accepterons en première approximation), nous devrons compter sur environ 1,4 kilomètres par trajet.

Do we now suppose that each of the 108 million stops are uniformly distributed around the world (a hypotheses which we know is false, of course, but we accept this as an educated guess), we shall arrive at a travel distance of approximate 1.4 kilometres between every stop.

Ceci signifie un voyage total de plus de 150 millions de km, sans compter les détours pour ravitailler ou faire pipi.

This will add up to a total of 150 million kilometers, without counting the small detours to recuperate or faire pipi.
Le traîneau du Père Noël se déplace donc a 1170 kilomètres par seconde (3000 fois la vitesse du son).

As it were, the Santa Claus entourage covers a distance of 1170 km per second, that is 3000 times the speed of sound.
A titre de comparaison, le véhicule le plus rapide fabrique par l'homme, la sonde spatiale Ulysse, se traîne a 49 kilomètres par seconde et un renne moyen peut courir au mieux de sa forme a 27 kilomètres a l'heure.

In a comparison we can look at the fastest vehicle made by man, the space rocket Ulyssis that travels 49 kilometers per second, while an average reindeer will be able to run 27 kilometers per hour, if well-trained and in good health.
La charge utile du traîneau constitue également un élément intéressant.  En supposant que chaque enfant ne reçoit rien de plus qu'une boite de Lego moyenne (un kilo), le traîneau supporte plus de 500 mille tonnes, sans compter le poids du Père Noël lui-même. 

The load capacity of the sleigh is also worth looking at. Supposing that each child will receive solely an average-sized box of lego (one kilo), the sleigh will have to carry more than 500 thousand tons, not counting the weight of Santa Claus himself.

Sur Terre, un renne conventionnel ne peut tirer plus de 150 kilos.  Même en supposant que le fameux "renne volant" serait dix fois plus performant, le boulot du Père Noël ne pourrait jamais s'accomplir avec 8 ou 9 bestiaux ; il lui en faudrait 360 000. 

On earth, a conventional reindeer cannot pull more than 150 kilos. Even if we suppose that the famous flying reindeers can carry six times that load, Santa will never accomplish a transport with only 8 or 9 of those beasts ; he will, in fact, need 360 000. 

600 000 tonnes voyageant a 1170 kilomètres par seconde créent une énorme résistance a l'air. 

600 000 tons travelling at 1170 kilometers per second will create an enormous air resistance.

Celle-ci ferait chauffer les rennes, au même titre qu'un engin spatial rentrant dans l'atmosphère terrestre. 

This speed will undoubtedly heat up those reindeers to a temperature resembling the one of a spacial rocket on reentry into the earth’s atmosphere.

Les deux rennes en tête de convoi absorberaient chacun une énergie calorifique de 14 300 millions de joules par seconde. 

The two reindeers leading the pack will each absorb the calorific energy of 143 000 million joules per second.

En bref, ils flamberaient quasi instantanément, exposant dangereusement les deux rennes suivants. 

In short, they will go up in flames instantly and present a real danger to those reindeers behind them.

La meute entière de rennes serait complètement vaporisée en 4.26 millièmes de secondes, soit juste le temps pour le Père Noël d'atteindre la cinquième maison de sa tournée. 

The entire group will evaporate completely in about 4.26 thousands of a second, which is about the time Santa Claus hits only the fifth house on his long trip.

Pas de quoi s'en faire de toute façon, puisque le Père Noël, en passant de manière fulgurante de zéro a 1170 km/s en un millième de seconde, serait sujet a des accélérations allant jusqu'a 17 500 G's.

But Santa, one might mention in passing, also accelerates at lightning speed from zero to 1170 kilometers in one thousandth of a second, exposing him to a force of up to 17 500 Gs. 
Un Père Noël de 125 kilos (ce qui semble ridiculement mince) se retrouverait plaqué au fond du traîneau par une force de 2 157 507,5 kilos, écrabouillant instantanément ses os et ses organes et le réduisant a un petit tas de chair rose et tremblotante... 
C'est pourquoi, si le Père Noël a existé, il est mort maintenant. 

A Santa at 125 kilos (which sounds ridiculously emaciated) will find himself flattened at the back wall of the sleigh with a force of 2 million and 157 thousand five-hundred-and-seven point 5 kilos, crushed instantly, his bones and all reduced to a small quivering mass ... What a thought! 

This is why either Santa Claus, had he ever existed, will undoubtedly be dead by now or.... as we all love to think continues to exist as a wonderful figment of our imagination!
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